PERCENTAGE 9fdsera

NUMBER BASED QUESTION

If 162% of a number is added with itself then result

becomes 4956. Find the original number?

el =T A1 37 162% & TS 7 ATH HEAT 4956
& | 1 st ST 2

(A)4248 (B)4448 (C)4842 (D)3200

A student multiplied a number by 3/5 instead of

5/3. What is the % error in the calculation?

U fERmefT uF " wr 5/3 F T 9T 3/5 F I[OT F
AT g T A2 % ATT FI?
(A)B0% (B)62% (C)63% (D)64%

FRACTION BASED QUESTION

If the numerator of a fraction is increased by 200%

and the denominator is increased by 350%, the
resultant fraction is %. What was the original

fraction?

afx fft forer 3 sfor § 200% % 27 F 350% H If
T ST | AT TRers e 5/12 At 8 | g e 4w on
"

(A)g (B)g €< (D) (E) None of

these
AREA AND VOLUME BASED QUESTIONS
If the length of a rectangle is 167.67cm and the

breadth is 69.69cm . if the length of a rectangle is
increased by 37 2% and its breadth is decreased
by 20%. Find the % change in the area?

afx et s & st 167.67cm g TUT A=

69.69cm % | FfT srq &t e 37.5% T@T &1 |10
JAT AETE 20% FF FT & AT aF &% § %
fade AT F?

(A)+20% (B)-15% (C)+10%
(D)+5%

If the sides of a square is increased by 40%. Find

the % change in its area?
et &t & g 40% F@rs U, 99 &% H %
e ST w2
(A)96% (B)94% (C)92%
(D)90%

LESS THAN GREATER THAN BASED QUESTION

If X earns 25% more than Y. what % less does Y

earn than X ?

FfT X, Y & 25% AfAR o9 F97ar g ar aarzuw Y, X
T FoFae % FH & FHTUIAT ?

(A)20% (B)22% (C)24%
(D)25%

If Krishana salary is 16 § % less than Radha. By
how much % does Radha’s salary is more than

krishana?

T FoorT T A T T AT T 16.66% FH T | FATET
TTET T AT FOOT T 0T & Fhaar aferd stfer 872

(A)16%  (B)20% (C)25% (D)30%

PASS AND FAIL BASED QUESTION
If a student scores 25% marks then he is failed by

210 marks. But if he score 55% marks then he

passed with 240 marks. Find the passing % ?
uF A=t 25% % ATaT § ar g 210 S F T |
ST & | AR a8 55% 3 ATaT g AT a8 240 3w A
T ZIaT 2 | 9T % T 1 ?
(A)39% (B)40% (C)44%
(D)45%

ELECTIONS BASED QUESTIONS

In an election two candidates participate. 20%
votes declare invalid and the winner get 70% of
valid votes and he win by 9600 votes. Find the no.
of

(i) Voters in Voting list (i) Valid votes
et T ® 27 STIEa AR A 2 1 20 % Fie Tay
=TT BT SATd g qAqT Strad arar Jeareft a4 adqt &7

70% STH FIAT & TAT 9600 aTei & S Srar g | av
T FL?

(1) T dStroha Faarar ()% \a
(A)32000,24000 (B)30000,24000
(C)40000,28000 (D)32000,28000

CUNSUMPTION AND EXPENDITURE

. The price of sugar is increased by 20%. By how

much% the consumption is decreased so that

expenditure will not increase?

HT FT o7 20% FEaT § T AT A @ad § AT %
& it i 5T, o g9 v v e
(A)16.66%  (B)20%  (C)25%  (D)33.33%
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11. The price of sugar is decreased by 30%. By how

much% the consumption is increased so that

expenditure will same?

H FT qoT 30% Tear g ar I @I At %

Fers oy, o g = fRaw w2

(A)28% (B)42§% (C)29% (D)30.33%
TYPE

. A reduction of Rs. 2 per kg enables a man to

purchase 4 kg more sugar for Rs. 16. Find original

price ?

= F T # 2 wuv vfy B f o g o
=fF 16 T0r § 4 R sfes =it adear g |
FTEA A o ATT H3?

(A)3rs/kg  (B)drsikg  (C)5rsikg  (D)6rs/kg

TYPE

. A -man spends 60% of his income. If his income is
increased by 15% and his expenditure is
increased by 15%. Find the % change in his

saving?

T ST IAT AT FT 60% @+ Far g | Ff =7f=e fir
AT 15% Tqedl g a1 @+ 4T 15% q@ar g | a9d § %
qfvady J1d w2

(A)15% inc  (B)20%inc  (C)30inc  (D)33%inc

POPULATION
. TF T Y Saeear § yfaad 10% f gfE g g,
7f 3 2003 # =8 ST T TAGEAT 15 ATE &I, a1 a9
2005 ¥ THehT STrerear farat oft?
(A)16.5lakh (B)18.15lakh

(D)none

(C)17.25lakh

. UF 7 T STHEAT 48600 ¢ | AfE qger a9 § TAd
25% #T g T a°r gL a9 § 8% FAT T AT 2 AT *
o H TH A STAHEAT At g ?

(A)65610 (B)55590 (C)60750

(D)64850
TYPE

. UF 90 FHe¥ F Geq 25000 % € | I4F a9 & #q §
THHT GF 39 a9 & AH % g HT 80% T STaT g ar
3 99 T8 THe? AT oI FAT g2

(A) 10000 (B)12000 (C)12500
(D)12800

17. TF H90F &1 o7 10% A0S T T F qear g | T2 3

FY qd gaar Tt o7 | 7T ZHeEr aqqT goa F 87480
2 T THHT - T A1q F27
(A)100000 (B)113724 (C)120000
(D)none

TYPE

. A person spend 10% of his total income on food ,

15% on travel, 25% on study and finally he saved

1500rs. find the total income of his person?

T ATh AT F T FT 10% G 9T TH FdT 2,
15% AT I AT 25% TETE I% @ HTT g qAT q |

g 1500 % =7 ITqT ¢ | A7 SHET T AT AT hITord ?
(A) 3000RS (B)2000RS (C)2500RS

(D)none

. A man spends 5% of his total income in traveling

and 20% of rest spend in food and then he donate
Rs. 120 and he still with Rupees 1400. Find his

income?

T (< ATHT AT FT 5% TTAT H, 99 F7 20% A=
H, TAT 120 €T 9 § a7 g | T 396 919 a7efy ofF
1400 5= BT, TS <k 6T AT AT FL?

(A)3000  (B)2000  (C)1900 (D)1800

TYPE

. Salary of a person is first increased by 20%, then

it is decreased by 20% Change in his salary is :-
foreft = A7 AW & T 20% H gty A T @
RT3\ 20% & FAT T T | T SHE qaT §
afiady g ?

(A)4% Decrease(FHT) (B)4% Increase (Ffz)

(C) 8% Decrease(®FH1)  (D)Neither decrease nor

increase( T FHT 7 315 )

. A number is increased by 20% and then it is

decreased by 10% . find the net increase or

decrease percentage?
T HEAT &l U5t 20% FTETAT 1T & A7 % 10%
HETAT SITAT & a1 Sferd FHT A7 i 77 F:42

(A)10% increase (B)10% decrease

(C) 8% increase (D)8% decrease




